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e	701-otnegra'd	%48,15	led	¨Ã	arutan	ni	etneserp	otnegra'l	:adnamoD	!osseda	emase'l	idnerP	!etut-e-suA	a	iticsinU	.acidoirep	allebat	allen	erolav	li	noc	adrocnoc	oinobrac	led	ocimota	osep	li	rep	erolav	otseuQ	u	110.21	=	001	·Â	£Ã	1,1021	¨Ã	oinobrac	id	mota	1	id	"atarednop	aidem	assam"	al	otnatreP	u	1,1021	¨Ã	elarutan	oinobrac	id	imota	001	id
assam	al	idniuQ	​Ã	¢Ã	1,1021	=	¢Ã	3,41	+	8,6811	=	¢Ã	31	​​â£Ã	01,1	+	21	​​â£Ã	09,89	=	​Ã	31-oinobrac	id	imota	ilg	ittut	id	assam	+	21-oinobrac	id	imota	ilg	ittut	id	assam	=	imota	001	id	elatot	assam	:¨Ã	elarutan	oinobrac	id	imota	001	id	elatot	assam	al	,OS	u	31	id	assam	anu	onnah	oinobrac	id	imota	ilged	01,1	,¨ÃoiC	U	31	assam	id	assam	anu	noc	31-
oinobrac	id	imota	onos	oinobrac	id	imota	001	ied	%01,1	U	21	id	assam	anu	onnah	oinobrac	id	imota	ilged	09,89	,¨Ã	ehc	U	21	id	assam	anu	noc	21-oinobrac	id	imota	onos	oinobrac	id	imota	001	ied	%09,89	li	:idniuQ	,)eniggiluf	allen	o	enobrac	len	emoc(	osufs	oinobrac	id	imota	001	isseva	es	ehc	acifingis	²Ãic	,%01,1'lled	¨Ã	31-oinobrac	id	acipotosi
aznadnobba'l	e	%09,89	led	¨Ã	21-oinobrac	id	acipotosi	aznadnobba'l	ehc	omairpocs	arpos	enoizes	alled	allebat	allaD	.31-oinobrac	id	imota	e	1elbats	21-oinobrac	id	imota	:ipotosi	isrevid	id	alecsim	emoc	arutan	ni	etsise	,oipmese	da	,oinobrac	otnemele'L	.)a(	assam	id	oremun	ous	li	odnasu	,acipotosi	assam	aus	al	,otnemele	nu	id	opotosi	isaislauq	id
assam	al	eramitS	00,31	=	21	​​â£Ã	380,1	orevvo	,21-oinobrac	id	omota	nu	id	assam	al	etlov	33380,1	eresse	atatlusir	¨Ã	31-oinobrac	id	omota	nu	id	avitaler	acimota	assam	aL	00,21	emoc	atinifed	¨Ã	21-oinobrac	id	omota	nu	id	avitaler	acimota	assam	aL	!aro	acoiG	!etut-e-suA	a	iticsinU	.opmet	len		Ãretnemua	elibats	opotosi	otseuq	id	acipotosi
aznadnobba'l	,osrevid	otnemele	nu	id	elibats	opotosi	nu	errudorp	rep	edaced	ovittaoidar	ocipotosi	nu	es	,opmet	len	eraibmac	onossop	ehcipotosi	eznadnobba	eL	.26,36	emoc	otartsinimmos	¨Ã	emar	led	ocimota	osep	lI	.elanosrep	e	essalc	id	osu'lla	olos	otanitseD	48.16%	silver-109.	Indicate	your	solution	to	the	"abundance	of	each	copper	isotope"
problem:	abundance	of	copper-63	=	69%	abundance	of	copper-65	=	31%	you	can	apply	apply	.38	06.11	.5.5.5.5.5.5.5.5.5.5.5.5.5.5.5.5.5.5.5.5.5.5.5.5.5.5.5.5	acipotosi	aznadnobbA	desu	dna	detcartxe	eb	tonnac	dna	dethgirypoc	era	tnemucod	siht	ni	dnuof	stnemele	dna	trapilC	04.25	bP802	01.22	bP702	01.42	bP602	04.1	bP402	dael	84.07	lT502	25.92
lT302	muillaht	08.6	gH402	56.92	gH202	02.31	gH102	01.32	gH002	00.71	gH991	01.01	gH891	51.0	gH691	yrucrem	001	uA791	dlog	02.7	tP891	03.52	tP691	08.33	tP591	09.23	tP491	97.0	tP291	10.0	tP091	munitalp	07.26	rI391	03.73	rI191	muidiri	00.14	sO291	04.62	sO091	01.61	sO981	03.31	sO881	06.1	sO781	85.1	sO681	20.0	sO481	muimso	06.26
eR781	04.73	eR581	muinehr	06.82	W681	76.03	W481	03.41	W381	03.62	W281	310.0	W081	netsgnut	99.99	aT181	210.0	aT081	mulatnat	02.53	fH081	47.31	fH971	01.72	fH871	06.81	fH771	02.5	fH671	61.0	fH471	muinfah	06.2	uL671	04.79	uL571	muitetul	07.21	bY671	08.13	bY471	21.61	bY371	09.12	bY271	03.41	bY171	50.3	bY071	31.0	bY861
muibretty	001	mT961	muiluht	09.41	rE071	08.62	rE861	59.22	rE761	06.33	rE661	16.1	rE461	41.0	rE261	muibre	00155161111111111	mlome	,829	39999999999999999999	BCE.	yD651	muisorpsyd	001	bT951	muibret	68.12	dG061	48.42	dG851	56.51	dG751	74.02	dG651	08.41	dG551	81.2	dG451	02.0	dG251	muinilodag	02.25	uE351	08.74	uE151
muiporue	07.22	mS451	07.62	mS251	04.7	mS051	08.31	mS941	03.11	mS841	00.51	mS741	01.3	mS441	muiramas	46.5	dN051	67.5	dN841	91.71	dN641	03.8	dN541	08.32	dN441	81.21	dN341	31.72	dN241	muimydoen	001	rP141	muimydoesarp	80.11	eC241	84.88	eC041	52.0	eC831	91.0	eC631	muirec	19.99	aL931	90.0	aL831	munahtnal	07.17	aB831
32.11	aB731	58.7	aB631	95.6	aB531	24.2	aB431	01.0	aB231	11.0	aB031	muirab	001	sC331	muisec	09.8	eX631	04.01	eX431	09.62	eX231	02.12	eX131	01.4	eX031	04.62	eX921	19.1	eX821	90.0	eX621	01.0	eX421	nonex	001	I721	enidoi	08.33	eT031	96.13	eT821	59.81	eT621	41.7	eT521	28.4	eT421	19.0	eT321	06.2	eT221	690.0	eT021	muirullet	07.24
bS321	03.75	bS121	ynomitna	06.5	nS421	06.4	nS221	04.23	nS021	06.8	nS911	03.42	nS811	07.7	nS711	07.41	nS611	63.0	nS511	56.	4111.	ehT	snoelcun	31	sniatnoc	epotosi	31-nobrac	eht	fo	mota	na	fo	suelcun	snoelcun	21	sniatnoc	epotosi	21-nobrac	eht	fo	mota	na	fo	suelcun	:elpmaxe	roF	.egap	siht	fo	mottob	eht	ta	secnadnuba	cipotosi	fo	tsil
etelpmoc	erom	a	dnif	nac	uoY	Ã​	Ã	​	Ã​	02.9	eN22	Ã​	Ã​	Ã​	62.0	eN12	06.99	rA04	06.09	eN02	noen	360.0	rA83	00.001	F91	eniroulf	43.0	rA63	nogra	02.0	O81	32.42	lC73	830.0	O71	77.57	lC53	enirolhc	67.99	O61	negyxo	20.0	S63	73.0	N51	12.4	S43	36.99	N41	negortin	57.0	S33	01.1	C31	20.59	S23	ruflus	09.89	C21	nobrac	001	P13	surohpsohp	02.08	B11
01.3	iS03	08.91	B01	norob	76.4	iS92	00.001	eB9	muillyreb	32.29	iS82	nocilis	85.29	iL7	00.001	lA72	muinimula	24.7	iL6	muihtil	01.11	gM62	9999.99	eH4	00.01	gM52	1000.0	eH3	muileh	09.87	gM42	muisengam	10.0	H2	00.001	aN32	muidos	99.99	H1	negordyh	)%(	ecnadnubA	epotosI	tnemelE	)%(	ecnadnubA	epotosI	tnemelE	:htraE	no	stnemele	emos
rof	secnadnuba	cipotosi	eht	sevig	woleb	elbat	ehT	.epotosi	31-nobrac	eht	eb	dluow	wef	a	ylno	dna	epotosi	21-nobrac	eht	era	smota	nobrac	eht	fo	tsom	taht	dnif	dluow	uoy	,laoc	fo	pmul	a	ro	yenmihc	a	morf	toos	eht	elpmaxe	rof	,smota	nobrac	fo	elpmas	a	ekat	ot	erew	uoy	fI	.weiv	cilbup	rof	yllatigid	deyalpsid	ro	detubirtsid	eb	ton	yam	tcudorp	sihT
.tcerroc	si	rewsna	ruo	taht	tnedifnoc	ylbanosaer	era	ew	801	ot	esolc	si	69.701	fo	eulav	detaluclac	ruo	ecniS	801	=	)901	+	701(	Â​Ã​	Â½Ã​	Â​Â​Ã¢	thgiew	cimota	:)901(	901-revlis	dna	)701(	701-revlis	fo	SSAM	ET	NEWEEB	YAW-Flah	Tuoba	Eil	Lliw	Revlis	ROF	SSAM	Egareva	DIGEEW	EHT,	901-REVLIS	ERA)%05âˆâˆ	‰	ã	(flah	Rehto	ehto	ehto	ehtoo	eravlis
evlis	to	Smota	etha	ˆ	ˆ	ˆ	¢	¢	¢�	(	flah	tuoba	ecniS	:noitaluclac	hguor	a	oD	.sepotosi	tnereffid	fo	erutxim	a	sa	erutan	ni	rucco	stnemele	tsoM	sepotosI	gnirruccO	yllarutaN	fo	ecnadnubA	!uoy	rof	ffuts	eerf	on	=	su	rof	yenom	on	=	sda	oN	."egareva	dethgiew"	a	sa	tluser	eht	ot	Refer	Ew	Siht	OD	Ew	Nehw	DNA,	"Egareva"	Ruo	etaluclac	ew	nehw	tnuocca	otni
siht	ekat	ot	deen	ew	.esnecil	ro	noissimrep	tuuthtiw	elif	siht	fo	id	odnalrap	omaits	ehc	eradrocir	¨Ã	occurt	lI	.assam	id	aipocsortteps	al	odnazzilitu	etarusim	eresse	onossop	ehcipotosi	essam	eL	u	31	=	noelcun/u	1	​Ã	inoelcun	31	:omota	31-oinobrac	id	acipotosi	assam	u	21	=	noelcun/u	1	​Ã	inoelcun	31	:omota	31-oinobrac	id	acipotosi	assam	u	21	=
noelcun/u	1	​Ã	inoelcun	21	:omota	21-oinobrac	id	acipotosi	assam	:oipmese	dA	u	1	​Ã	inoelcun	id	oremun	=	anoelcun	acipotosi	assam	id	assam	​Ã	inoelcun	id	oremun	=	acipotosi	assam	3	:inoelcun	ious	ied	assam	al	emeisni	odnegnuigga	otnemele	nu	id	opotosi	nu	id	omota	nu	id	assam	al	eramits	omaissoP	2.otnemele	nu	id	opotosi	nu	id	assam	al	amits	is
odnauq	atarongi	eresse	²Ãup	ehc	enortuen	nu	id	o	enotorp	nu	id	assam	alla	ottepsir	aloccip	¬Ãsoc	¨Ã	enorttele	nu	id	assam	aL	....	opmet	len		Ãriunimid	elarutan	elibatsni	opotosi	nu	id	aznadnobba'l	,idniuq	e	,ovittaoidar	otnemidaced	ecsibus	ehc	onu	¨Ã	elibatsni	opotosi	nU	?eraf	id	edeihc	el	ehc	adnamod	al	¨Ã	lauQ	).imelborp	ied	enoizulosir	alla
SPoGPotS	oiccorppa'llus	otasaB(	:enoizuloS	.odnenetto	iats	ehc	²Ãic	etnemattase	eredev	rep	atelpmoc	FDP	amirpetna'l	aciracS	elibacifidom	etnematelpmoc	DROW	otnemucod	nu	e	ocitats	FDP	otnemucod	nu	:itamrof	2	ni	otinrof	eneiv	oroval	id	oilgof	otseuQ	:itamrof	2	ni	elibaciracS	.enoipmac	led	itneduts	ilged	itad	i	noc	atacifidoc	iroloc	a	atsopsir	id
evaihc	anu	¨Ã	4-3	segaP	.everb	isilana	id	adnamod	1	a	emeisni	muinaeb	id	aidem	acimota	assam	al	e	opotosi	ingo	id	otnec	rep	aznadnobba'l	eraloclac	id	enif	la	iloclac	2	id	enopsid	2	egaPatouv	itad	id	allebat	anu	ecsinrof	e	arudecorp	al	,ilairetam	i	,amelborp	li	ecsilibats	,ipotosi	id	ottecnoc	li	ecudortni	1	oiggas	lI	:otunetnoC	.iov	a	otinrof	enoipmac	nu	us
atasab	muinaeb	led	aidem	acimota	assam	al	eraloclac	id	alleuq	¨Ã	adifs	artsov	aL	.elibisualp	¨Ã	opotosi	ingo	id	aznadnobba'l	rep	italoclac	irolav	irtson	i	ehc	irucis	etnemlovenoigar	omais	idniuQ	%001	=	%13	+	%96	.enortuen	nu	id	assam	alled	ossets	ol	etnemattase	isauq	¨Ã	enotorp	nu	id	ais	ais	41-otoza	id	%	aznadnoba'l	ehc	oicsal	es	,idniuQ	51-otoza
id	ecnadnuba%	-	001	=	41-otoza	id	ecnadnuba%	:osrevid	odom	nu	erettem	,O	001	=	51-otoza	id	ecnadnuba%	+	41-otoza	id	ecnadnuba%	:ehc	acifingis	ehc	lI	!elautnecrep	Ssam	A	Htiw	Epotosi	Tseivueh	Eht	not	01-NB	,YLLANNIF	?Siht	?Siht	ylppa	uoy	nAC	X	-	001	=	2	1	poto	1	potoes	ecnadnuba%	,os	x	=	)2	epotosi(a	-))	2	epotosi(a	-	tnemele	fo	Thgiew
Cemota(	Â—ã	forth	001	)2	2	epotosi(a	-	x	=	)2	epotosi(A	-	Tnemele	Few	Cumota(	Â—ã	forth	001	)2	posts	201.	(Ax	-	)1	Epotosi(A	x	=	)2	Epotosi(A—ã	forth	001(	-	)tnemele	Few	Cimota	â€œã	forth	0001(	x)2	Poptosi(a	-	)2	Price(A001	+	)1	Poptosi	(A	x	=	Tnemele	Fole	Thgiew	Cimota	Â—ã	forth	501	10	]x	-	001[(	+	))1	epotosi(ã	forth	=	=	tnemele	fo	thgiew
cimota	Â—ã	ram	001	X	=	1	Photos	Ecnadnuba	Tel	)2	Photos(a	Â—ã	forth	]1	Ecnadnuba	-	001[)1	epotosi(A	Â	1	Ecnadnuba(	=	tnemele	fee	thgie	ciewuti	downta	001	:1	Epotosi	Fo	Ecnadnuba%	-	0001	Slauqe	2	Peradnuba%	Eht	epotosi	hcae	fo	)a(	Rebmun	Ssam	Eht	Gnisi	Ecnadnuba	egatnecrep	Estam	,2	Epotam	Epotam	Epotam	Epotam	Epotam	Epotam
Epotam	Epotam	Epotam	Epotam	Epotam	Epotam	Epotam	Epotam	Epotam	Epotam	Epott	1	Epott	1	Epott	1	Epott	1	Epott	1	Epott	1	Epott	1	Epott.	Srucco	Tnemele	and	fi	,lareneg	is	%1	=	99	-	1	=	x	-	001	=	51-negortin	Ecnadnuba%	99	=	41-negortin	Ecnadnuba%	:Potosi	HCE	FNUBA	EHT	ROF	ETWESSERPXE	EHT	OTNI	KCAB	ENTTTTTTTS	ETTTTTTS
ETTTTTTS	ETTTTTTS	ETTTTTTS	ETTTTTTS	ETTTTTTS	ETTTTTTS	ETTTTTTTS	ENTTTTTS	ETTTTTTTTS	AT	-	YB	Noitauqe	Eht	Fo	Sedis	Htob	Edivid	I	OS	,)REBMUN	Evitgen	A	Ton(	Rebmun	Evitisop	A	Eb	Tsum	Inpotosi	And	Fo	Ecnadnuba	eht	Eton	Â	ã‚	X-	=	99-	0051	-	1041	-	1041	-	1041	-	1041	-	1041	-	1041	-	1041	-	1041	-	1041	-	1041	-	1041)	:Nitauqe
Eht	Fo	Sedis	Htob	Morf	0051	TCartbus	nht	0051	+	x-	=	1041	0051	+	x41	=	1041	x51	-	0051	+	x41	1041	:x	htiw	gnitrats	i	txen	Xc	XC	I	Txen	Xc	001	Â—ã	forth	51	=	1041	)51	1041	)51	1041[(	+	)41	Â—ã	forth	=	1041	:Ssrif	Stekcarb	Eht	Raelc	Lilw	I	x	rof	evlos	ot	ram	001[(	+	)41	Â—ãƒ	1041	)51	51-negotin	Ecnadnuba(	+	)41	Â—ãand	41-negotin
Ecnadnuba(	1041	:x	Evanh	lilah	I	Evoba	noitauqe	lacitamehtam	eht	otni	Eseht	Etuttsbus	I	fi	x	-	0001	=	51-negotin	o	encnadnuba%	X	=	41-negotin	feo	erdnuba%	:neht	x	Ot	of	10	amu.	This	is	called	the	mass	defect.	A	stable	isotope	is	one	that	does	not	undergo	radioactive	decay	(nuclear	decay).	This	2-page	isotope	lab	activity	designed	to	be	a	short
exercise	that	helps	students	gain	experience	with	calculating	percent	abundance	and	average	atomic	mass	using	3	different	sizes	of	beans	(lima,	pinto	or	navy,	and	black	eyed	peas)	to	represent	an	element	named	"beanium"	with	3	naturally-occurring	isotopes.To	perform	the	activity,	students	examine	a	sample	of	beans	(a	sample	ratio	can	be	found	in
the	answer	key),	count	the	number	of	different	beans	and	perform	2	sequential	calculations	to	discover	the	percent	abundance	of	each	"beanium"	isotope	and	the	average	atomic	mass.	Because	this	weight	is	closer	to	that	of	isotopic	mass	of	copper-63	than	it	is	to	that	of	the	isotopic	mass	of	copper-65	we	know	that	copper-63	must	be	more	abundant
(greater	than	50%).	Once	the	calculations	have	been	performed,	students	answer	a	short	analysis	questions	that	asks	them	to	calculate	how	the	average	atomic	mass	changes	when	one	isotope	increases	in	quantity	in	the	sample.Introduction	to	the	Activity	(From	the	Lab	Document)In	this	activity,	imagine	that	a	new	element	has	been	discovered.
What	is	a	"weighted	average"	?	Note	that	the	%abundance	of	both	isotopes	must	add	up	to	100%.	First	lets	look	at	what	the	"average	weight"	of	carbon	would	be:	mass	of	carbon-12	isotope	is	12	u	mass	of	carbon-13	isotope	is	13	u	So	we	can	calculate	the	average	mass	(average	weight)	of	carbon	as:	average	weight	=	12	+	13	2	=	12.5	u	If	we	look	up
the	atomic	weight	of	carbon	in	the	Periodic	Table	we	find	that	it	is	12.01	NOT	12.5	This	is	because	most	of	the	atoms	found	in	naturally	occurring	carbon	are	atoms	of	the	carbon-12	isotope	while	very	few	of	the	atoms	will	be	of	the	carbon-13	isotope.	Do	you	understand	this?	1	u	=	1.66	​Ã​Â	10-27	kg	We	can	estmate	the	the	relative	atomic	mass	(atomic
weight)	of	an	element	E	with	the	ziuQ	6(	slobmyS	lacimehC	dna	semaN	tnemelE	-	ziuQsmargaiD	toD	nortcelE	dna	rhoB	gniwarD	-	ziuQledoM	cimotA	eht	fo	yrotsiH	-	ziuQmotA	eht	fo	erutcurtS	-	ziuQsM&M	htiW	sepotosI	-	baLsnaeB	htiW	sepotosI	-	baLemaG	ogniB	tnemelE	ro	ognimelE	-	teehskroWelbaT	cidoireP	eht	fo	spuorG	-	teehskroWstnemelE	fo
elbaT	cidoireP	s'veeledneM	-	teehskroWsmargaiD	toD	nortcelE	gniwarD	-	teehskroWsmargaiD	rhoB	gniwarD	-	teehskroW?sepotosI	era	tahW	-	teehskroWhtaM	tnemelE	-	teehskroWledoM	cimotA	eht	fo	yrotsiH	-	teehskroWmotA	eht	fo	erutcurtS	-	teehskroWtinU	elbaT	cidoireP	eht	dna	smotA	-	sdroW	yeK	&	weivrevO	tinUweiveR	elbaT	cidoireP	eht	&
Smota	:Emag	ydrapoej	-	tppelbat	ciodiep	eht	dna	smota	-	tppelbat	ciodiep	eht	dna	smota	-	ednus:	ethiwolf	ekil	thgim	uoyrettam	fo	seriporp	dna	ethireporp	dna	ethireporp	dna	stireporps	-	ECneics	lacisyhpa.1sp-sm	-	Dessardda	)s(Aedi	eroc	ssgn	Tnaveler:	Seceruser	Tinu	Gniwolof	Eht	Eht	I'm	Not	Afraid	on	.Lairotut	On	.Lairotut	ypocsortceps	ssam	eht	ni
Sessam	cliotosi	essam	cimota	evelitaler	gnititlac	fo	noissucsid	a	dnif	lliw	uoy	Ton	ypocsorps	ssam	gnisu	epnadnutu	sti	dna	epotosi	ssam	eht	Erusaem	nac	ew	Taht	eon	x	eptosi	ssam	â—ãƒ	001	x	-	001	(+	)	a-epotosi	ssam	â—ãƒ	001	Â	‚	X	Â	Ã‚	(	=	.M.A.R	:Tnemele	eht	fo	ssam	cimota	evaltaler	=	M.A.R,	neht	b-epotosi	fo	epnadnutu%	=	X	-	001	DNA	A-Epotosi
FOUNTER	ECNADNUBU%	=	X	Tel	:Epotosi	Hcae	Fo	Ecnadnuba	Evitaler	EHT	Etamitse	neht	NAC	ew	,	sepotosi	sti	fo	ssam	detamitse	eht	dna	tnemele	na	fo	).M.M.M.M(	Ssam	Cimota	Evitaler	Eht	Nevig	Cte	+	)c	Â—Ãƒ	001	Âã‚	(	)b	Â—ãƒ	001	Â	Ã‚	b	Â	Ã‚	(	+	)	a	Â—Ãƒ	001	Â	Â‚	(	=	).M.M.A.R(	Ssam	Cimota	Evetaler	,	CTE	%c	,%b	,%s	,%a	fo	secnadnuba
evetetarsespespser	eht	htiw	dna	,cte	,	,	EC	,EB	,EA	Sepotosi	Gnirrucco	-	groups	elements	of	the	magazine	periodic	tableunit	review	-	atomi	and	the	magazine	tabletest	-	atomi	and	the	periodical	tableconnect	with	more	science	with	mr.	enns	resources:	Be	sure	to	follow	my	tpt	store	by	clicking	on	follow	me	next	to	my	seller	image	to	receive
notifications	of	new	products	and	incoming	sales.	terms	of	use:	Copyright	©	douglas	enns.	In	fact	we	are	estimating	the	mass	of	the	nucleus	rather	than	the	atom	(because	we	are	ignoring	the	mass	of	electrons	that	contribute	very	little	to	the	mass	of	an	atom.)	calculates	the	mass	"media	weight"	(atomic	mass,	or,	atomic	weight)	of	silver	what	data
(information)	have	been	given	to	you	in	the	question?	nuclear	reactions	made	by	man	will	also	change	isotopic	abundance.	declare	your	solution	to	the	problem	"atomic	weight	of	silver:"	the	atomic	weight	of	silver	is	107.96	u	example	worked	2:	calculation	of	the	isotopic	abundance	of	a	question	element:	copper	consists	of	two	isotopes,	copper-63	and
copper-65.	There	are	3	natural-occupant	isotopes	of	beanium.	we	need	to	know	the	abundance	of	each	isotope,	that	is,	we	need	to	know	how	much	of	the	natural	mass	carbon	mass	mass	mass	(weight)	that	occurs	is	due	to	each	of	the	isotopes	(carbon-12	and	carbon-13).	extract	data	from	the	question:	isotope	name	mass	number	(a)	isotopic	abundance
(%)	silver-107	107	51.84	silver-109	109	48.16	what	is	the	relationship	between	what	you	know	and	what	you	need	to	discover?	join	AUS-e-TUTE!	footnote	1.	all	rights	reserved	by	the	author.	If	we	know	the	mass	of	each	isotope	that	makes	up	this	natural	element	(estimated	by	its	mass	number,)	then	we	can	calculate	the	abundance	of	each	isotope	in
nature.	(a)	average	weighted	copper	mass	=	(%	copper-63100	×	a	(copper-63))	+	(%	copper-65	100	×	a	(copper-65)	(b)	leave	copper-63	=	x	e	%abundance	copper-65	=	100	-	x	replace	i	26.36	26.36	)a(	:erevlosir	e	enoizauqe'llen	(X100	ue—	63)	+	(100	-	x	100	ue—	65)	63.62	=	63x100	+	(65'—	100)	-	65x	100	63.62	=	63x100	+	6500	-	65x	100	63.62	=
63x	+	6500	-	65x	6362	=	100'—	63.62	=	100	ã—	63x	+	6500	x	6362	=	63x	+	6500	Failure	to	respect	is	a	violation	of	copyright	and	a	violation	of	the	digital	millennium	copyright	act	(DMCA).	Mass	of	a	proton	=	1,673	ã—	10-27	kg	=	1.01	u	mass	of	a	neutron	=	1.675'—	10-27	kg	=	1.01	u	mass	of	an	electron	=	9.109'—	10-31	kg	=	0.000549	u	3.	Our
value	Calculated	for	the	abundance	of	copper-63	it	is	69%	which	is	greater	than	50%	so	we	are	reasonably	sure	that	our	response	is	plausible.	We	wrote	a	general	mathematical	expression	(mathematical	equation)	above	for	the	calculation	of	the	"average	weighing"	mass,	also	known	as	the	relative	atomic	mass	or	atomic	weight,	of	an	element,	which
was:	"average	weight"	mass	of	element	=	(	Abundance	isotope	1	ã—	a	(isotope	1))	+	(abundance	isotope	2	è—	a	(isotope	2))	100	we	say	that	I	wanted	to	find	the	abundance	(%)	of	each	nitrogen	isotope.	The	slightly	light	isotope	is	BN-8,	with	a	mass	number	of	8	amu.	The	relative	atomic	mass	of	an	element	is	also	known	as	the	relative	atomic	weight	of
an	element,	or,	the	atomic	weight	of	an	element.	Nitrogen	has	two	stable	isotopes	natural:	nitrogen-14	and	nitrogen-15.	(a)	the	mass	of	an	isotope	can	be	estimated	using	its	mass	number	(a)	expressed	in	atomic	mass	units,	U	(b)	weighted	average	mass	"100	100'—	100	=	(%	abundance	silver-107100'—	a	(Silver-107)	Average	+	(%Abundance	Silver-
109	100	ã—	a	(Silver-109)	Your	answer	is	plausible?	The	mass	number	(a)	of	an	isotope	tells	us	how	many	protons	and	I	am	in	the	nucleus	of	an	atom	of	this	isotope.	You	are	reading	a	free	preview	page	2	is	not	shown	in	this	preview.	Therefore,	the	mass	number	(a)	tells	us	the	number	of	nucleons	in	the	nucleus	of	an	atom	of	the	isotoppy	of	the
element.	This	product	must	be	used	only	by	the	original	downloader.	The	intermediate	isotope,	BN-9,	has	a	mass	number	of	9	amu.	Join	aus-e-tute!	Do	the	test	now!	The	relative	atomic	mass	of	an	element	is	the	weighted	average	of	the	masses	of	the	isotopes	in	the	natural	element	that	occurs	with	respect	to	the	mass	of	an	atom	of	the	carbon-2	isotope
that	is	taken	to	be	exactly	12.	When	we	measure	the	mass	of	A	nucleus	we	find	that	the	observed	mass	is	lower	than	the	sum	of	the	masses	of	all	the	nucleons.	You	know	it?	There	is	a	discussion	on	the	variation	of	isotopic	abundance	in	the	Carbon-14	dating	tutorial.	The	new	element	is	called	Beanium,	which	has	the	chemical	symbol	BN.	Beanium's
atomic	number	is	4	amu.	Nucleon	is	the	term	used	to	describe	both	protons	and	neutrons.	2.	The	abundance	of	the	carbon-2	isotope	in	natural	carbon	that	occurs	en	masse	is	98.90%	while	the	abundance	of	the	carbon	isotope-13	in	nature	is	1.10%	there	means	that	if	you	It	takes	a	lump	of	coal	from	nature,	98.90%	of	carbon	in	coal	will	be	atoms	of	the
carbon	isotope-12,	while	only	1.10%	of	it	will	be	atoms	of	the	carbon	isotope-13.	We	call	this	quantity	of	every	isotope	found	in	the	natural	element	its	abundance,	or	its	isotopic	abundance	to	be	more	precise.	The	atomic	mass	unit	(U)	is	defined	as	a	mass	equivalent	to	1/12	of	the	mass	of	a	carbon-12	atom.	The	relative	atomic	mass	of	an	element	is	the
weighted	average	of	the	masses	of	the	isotopes	in	the	natural	element	that	occurs	with	respect	to	the	mass	of	an	atom	of	the	carbon-2	isotope	that	is	taken	to	be	exactly	12.	Note	that	this	does	not	it	means	that	the	elarutan	elarutan	enoizaripsa	id	enoipmac	nu	omaidnerp	es	ehc	acifingiS	u	110.21	¨Ã	oinobrac	id	omota	1	id	41-I's	Panubone(	=	101:4
mbane	mlim	,	which	says	the	malmboney	5	5	5-4	:aa(al	alcubs	Sucke	Yourmas	uban	NAMABOLY	104	,	sambate	41-41	417	40	4-4	Acal	in	Pccu	201)	41-Wit	to	En	51-	51-Rón	Videoum)	Quanezer)	Questions	Questions	Questions—Qubóm	Answers	Questions—Qubóm	Answers—Qubóm	Answers?	Lactam	Ant	Plake	Puine	Magine	sucu	)	sucuocu	)
nakucancucancu	)	namebate	nakbalk	-,	Rebs	Everyone	Hav	Ha	Haman,	Seitu	.	Discussion	sabɔb	,	Quan	)	Answers	Answers	20	20	mummbɔ:	UY	40	(	=	=	4lale	for	a	salr"	:yo	001)	201)	200)	Questions	,	according	to	2Quancan	,	20100)	Question.	SOSSL	"Mlell	Lamee":	Condal	person—yion	1als	1	and	1al	Redou	Ruans	(	=	=	Yón	:,2	1,	1,	1,	11	is	the	1	1-
savation	mberber	:	Futute	Gos	Ceole	to	be	leftolle	and	ubal	NBOB	who	have	salmbalo	yobɛclame	,	lame	)	Discussion.	The	ycCC	twiee	the	Sale	Sently	Seving	tue's	110.	14)	+	(abundance	nitrogen-15	ã	£	â	€	"15)	100	I	can	multiply	both	sides	of	the	mathematical	equation	by	100:	100	ã	â	€	â	€"	14.01	=	100	ã	£	â	€	"(abundance	nitrogen-4	£	â	€	"14)	+
(abundance	nitrogen-15	ã	£	â	€	â	€	15)	100	1401	=	(abundance	nitrogen-14	ã	â	€	â	€"	14)	+	(abundance	nitrogen-15	£	â	€	"15)	but	how	I	can	solve	this	Equation	when	there	are	2	unknowns,	the	abundance	of	nitrogen	-14	is	unknown	and	the	abundance	of	nitrogen	-15	is	unknown.	Calculate	the	atomic	weight	of	silver.	(a)	Calculate	the	abundance	%	of
copper-63	(b)	calculate	the	abundance	%	of	copper-65	which	data	(information)	have	been	provided	in	the	question?	The	relative	atomic	mass	is	often	abbreviated	as	R.A.M.	The	relative	atomic	mass	of	an	element	(its	atomic	weight)	is	shown	in	the	periodic	table.	Join	aus-e-tute!	Take	the	exam	now!	The	periodic	table	provides	us	with	the	weighted
average	for	the	mass	of	an	element,	indicated	as	an	atomic	weight	of	the	element	(or	relative	atomic	mass).	You	can	also	look	for	the	atomic	weight	of	silver	in	the	periodic	table	and	find	out	that	it	is	107.9.	In	order	to	our	calculated	value	of	107.96	is	more	or	less	the	same	as	the	value	in	the	periodic	table,	we	are	reasonably	confident	that	our
response	is	plausible.	The	mass	of	a	proton	is	about	1	U	(1	atomic	mass	unit),	therefore	the	mass	of	a	neutron	is	also	about	1	U.	The	copy	for	a	teacher,	in	the	classroom,	department,	school	is	prohibited	for	more	than	a	teacher	or	school	system.	prohibited.	
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